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ERDBMD,

2 2
asz(t)dt, bsz(t)dt (a, b 1 ZFEBDOEL)
1 0
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EBLE f) =X +ax-2bTHILMH, (x) &1

2
a:f(t2+at—2b)dt=
1

£ ap ?
? + ?l‘ - 2b[:|1

_1le_ Qg 1y _
= 3@-D+T(@-1)-2b2-1)

_3. A
a= 2a 2b + 3
S3a-12b=-14 ---QD
A : 8
_ S - S _
f(t + at — 2b)dt 3 2t 2th 3 +2a—-4b

6a-15b=-8 ---@@
®, @ %Wy LT L, a=3—98, b—29—0
X o TR LI

f) = 2 +%x—% )
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[3] 52 574tk

fy=-2 @
£10)=-1 @

1
ff(x)dx:—L NGO
0 6

Thb. f/(x)=2ax+bThHo0H, QLY b=-1 bbb,
LT,

fx)=ax* —x+c

OF)
f(l)za—1+C=—2 L c=—-a-1 @’
@ ItALT
1 1
f(axz—x—a—l)dxz %X3—§—ax—x
0 0
ZE—L—a_I:_L
3 2 6
a=-2
@ XY, c=1

[4] HIE y = f(x) LD (x, f(0)) 2B BEROMEED 32 +2 THDH0H
f(x)=3x*+2

L722%>C,
ﬂ@:jbf+mm=f+a+0(cuﬁ%%%

ZZT, WMty =f)AE (1, 1) Z#bsZEND
1=1+24+C .. C=-2
£ oT, kLMo FEAIL

y=x*+2x-2 (B
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[5] Ox) = px®> +gx+r (p, q, r IFEBEOER) B &, &40 &0

2 2 2 2
f P(x)(px* + gx + rydx = pf X2P(x)dx + qf xP(x)dx + rf P(x)dx =0
-2 -2 -2 -2

CNDPMEREDOER p, q, rIZOWTHEYIZLDDT
2
fsz(x)dxzo

2
f xP(x)dx = 0
-2

2
f P(x)dx =0
-2

P(x)=ax’ +bx* +cx+d (a, b, ¢, d \FFEHOEHT, a=0)
e NV W

2

2 2 b d
f X P(x)dx = f Pax +bx> +ex+dydx =2 - [gxs + ?xB]

2 2 0

_~. (32, 8 \_
_2(5b+3d)—0 ®

2 2 2
f xP(x)dx = f xax + b +ex+dydx =2 | L + £33
- 2 5 370

_~.(32_ .8 \_o ..
_2(5a+3c)—0 @)

2 2 2
f P(x)dx = f (a)c3 +bx> +cx + dydx=2- [§x3 +dx
-2 -2

0
=2-(%b+2d)=0 NG
Tz MG &0
Pl=a+b+c+d=7 ---®
® 0 O @rHEILTHEL
a=-50b=0,c=12,d=0
W 2 123k B P(x) 13

P(x)=-5x+12x (%)
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[6] f(x)=fx(t—2)(t—4)dt LB
0

J'x) = dixfo (1=2)(t=4)dt = (x = 2)(x - 4)

WZAZ f(x) 1T x=2THK, x=4THh&isb 22T

ﬂ@:lﬁﬁ-@+@m

X

_|1ls3_2p2
_[3t 3t + 8t

=%x3—3x2+8x

THAEND, y=f(x), y=f(x) D7 T 734K,
F72 f(x) OWWERIITOL ) IZh A,

0

X 0 ...... 2 ...... 4 ...... 6
S(x) + 0 - 0 +
oo BN 2o

Lo T, RoDLHENEE RAMEIL,

=

BAEIL2 x=6D&X)
=IMED (x=0DEX)
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[71 () f)=ax®+bx+c (a, b, c TFEBDOTEHT, ax0) B &,
1
f fodx=4 XY
-1

1

as, b - L2 =4 ...
[3x+2x +cx71—4 s 3a+26 4 ©)

2
F7, ff(x)dx=6JZV)

0

b ? 8
a 3, b 2 _ .o —
[3x+2x +cx0 6 R 3a+2b+26 6 @)

! 4
3512, fxf(x)dx:—? £h

1

1
a4, b3, cof __4 R
[4 +3x+2x}1—3 ..3b 3 ®
O, @ @rEVIETHELE, a=3,b=-2,c=1

L oT
fx)=3x*-2x+1 (&)

Q) fx)=ax*> +bx+c (a, b, c FFEBDEHT, ax0) LB L
2
ff(x)dx: Y
0 3

2

a3, b o __2 . 8 -_2
[3x+2x +cx]0— 3 s 3a+2b+26 3 ©)

? 2
x7, fxf(x)dxz = &y
0 3

2
a4, b 3, ¢ _2 . 8 2 .
[4x+3x+2x}_ s da+ Sh+2c= @

as, b4 c3l _8 .32 8.8 ...
[5x+4x+3x}O 5 . 5a+4b+3c 5 ®

O, @, @#%#ELLTHELE, a=-1,b=4, c=-3
LoT
fx)=-x*+4x-3 (&)
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[8] (1) x+2 x+2 0
F(x) = f (P - 4ndt = f (£ - 4ndrt + f (£ - 4n)dt
X 0 x

x+2 X
=f @—mmif@—Mm
0 0 y

F'(0) = {(x+2) —4(x+2)} - (" = 4w)
= 6x% + 12x —2x\v//
= 6x(x +2) :

0, y=F®x), y=Fx) D77 713,
FBREETOLH IR 5.

ZZT y = F'(x)

X e _2 e 0
F'(x) + 0 - 0 +
Fx) || /~ K N\ fh 7

3 1 4 0
F(=2) = 2(;-—4;)dt=[zt—2zz]_2

_ 1 s 5 2l
= - {2t -2-22) =4
2
F@ﬁif(ﬁ—MMt
0
|14 22__
_[4t ZI]O_ 4
Lo, Mtix

Bkl 4 (x= 20k %) "
f/ME -4 (x=0DL &) (&)

3-8



2 M) &Y, 22x221BTFLHy=Fx)D

77 713 M. y
36
F(2)_f4(t —4t)dt
=[5 2’] Y= FW
= J@-2h 242 |
=64-4-2-12 :2\0

=36

THDHNH

A 36 (x=20 %) ,K)
FME -4 (x=0mrx)
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O]l y=|>-1|D7 77y L THBRTHL05, ¢ 20 TEZNUIT5

H0ZcslDL k. f|x —1ldx %, HI¥

DOFFRATBOTREIZEE L\,
y
f|x2—1|dx=f(—x2+l)dx
0 0
x ]C
=-X 1
[ x|, g
=—%c3+c ? y=I? -1
INH clZHELVBDS
(6] c 1 X
—%c3+czc
c=0
) l<cok §.f|x2—1|dxc;t, HIOF
0
FREBOTAR 5 L,
y

f|x2—1|dx
0
1 C
= | (P2 +1)d f 2_1)d 1
j(;(x+)x+1(x )dx /

I Y et
_[ i et
=%c3—c+% 0 1 ¢ X
INDcIZFEL VDD
15 4 _
3C C+3—C
A —6c+4=0

(c=2)(*+2c-2)=0
c>1IHEBLT
c=2
PLEXD, KDL c DL, ¢ <0DEHELHbET
c=42,0 (%
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